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1 program gjkkl;
2 var n,y,kol,m:longint;
3 begin
4 read(n,m) ;
5 y:=(mt+l) div 2;
6 kol:=y* ((ntl) diwv 2);
7 kol:=kol+ (m—-vy)*(n div 2);
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write (kol);
end.
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1 Eprogram gj;
2 var n,k,i,del, kol:longint;
3 Hbegin
4 read(n, k) ;
5 del:=12+k;
6 kol:=0;
7 del:=del mod 7;
8 if del = 0 then del:=7;
9 i:=1;
[0 while (kol=0) and (i<=n) do
ggl begin
=112 if del=5 then kol:=kol+1l;
13 ir=i+1;
14 del:=(del+2) mod 7;
15 if del=0 then del:=7;
16 end;
17 i:=1i-1;
18 n:=n-i;
19 kol:=kol+(n div 7);
20 write (kol);
21  Lend.
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Ebzagram gjl;
var s: array [1..3] of string;

i:zinteger;

begin

for i:=1 te 3 do
readln(s[i]);
for i:=1 te 3 do
begin
if (length(s[i])<=4) or (length(s[i])>=7) then
begin
writeln('0");
continue;
end;
if length(s[il}=5 then
begin
//ofmecTs
if (ord(s[i][1])>=65) and (ord(s[i][1])<=50) then
if (ord(s[i][2])>=65) and (ord(s[i][2])<=80) then
if (ord(s[i]1[3])>=48) and (ord(s[i][3])«=57) then
if (ord(s[i][4]1)>=48) and (ord(s[i][4])<=57) then
if (ord(s[i][5])>=48) and (ord(s[i][5])«=57) then
begin
writeln('2"');
continue;
end;
end;
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end;
end;
if length(s[i])=¢ then
begin
if (ord(s[i]1[1]1)>=65) and (ord(s[i][1])<=5%0) then
begin
if (ord(s[i]l[2])»>=65) and (ord(s[i][2])<=50) then
begin
//nprnen
if (ord(s[i]1[3])>=48) and (ord(s[i][3])<=57) then
if (ord(s[i]1[4])>=48) and (ord(s[i][4])<=57) then
if (ord(s[i][5])>=48) and (ord(s[i][5])<=57) then
if (ord(s[il[€])>=48) and (ord(s[il[6]1)<=57) then
begin
writeln('3');
continue;
end;
end
else
begin
/ /gacTHel
if (ord(s[i]1[3])>=48) and (ord(s[i][3])<=57) then
if (ord(s[1][4])>=48) and (ord(s[i][4])<=57) then
if (ord(s[i][5])>=65) and (ord(s[i][5])<=50) then
if (ord(s[i]1[&])>=65) and (ord(s[i][6])<=90) then
begin
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if (ord(s[i][6])>=65) and (ord(s[i][6])<=20) then

begin
writeln('1');
continue;
end;
end;
end
else
begin

/ /MoToumrI
if (ord(s[i]1[2])>=48) and (ord(s[i][2])<=57) then
if (ord(s[1i]1[3])>=48) and (ord(s[i][3])<=57) then
if (ord(s[i]1[4])>=48) and (ord(s[i][4])<=57) then
if (ord(s[i][5])>=65) and (ord(s[i][5])<=%0) then
if (ord(s[i]l[e])>=65) and (ord(s[i][€])<=5%0) then

begin
writeln('4');
continue;

end;
end;
g end;
70 writeln('0');
71 end;

2  Lend.
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var n,res,a,b,crinteger;
begin
read(n);
if n<=% then //1
begin
write(n):
exit;
end;
if (n>»>=10) and (n<=13) then //2
begin
write(n,n);
exit;
end;
if (n>»>=19) and (n<=108) then //3
begin
n:=n-95;
res:=n*10+(n div 10);
write(res);
end;
if (n>=10%) and (n<=196) then //4
begin
n:=n-9%9;
res:=n*100+(n mod 10)*10+(n div 10);
write(res);
end;

E !program hkl;
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write (res):
end;
if (n>=19%) and (n<=10%8) then //5
begin
n:=n-59;
a:=n mod 100;
ar=a div 10;
res:=n*100+a*10+ (n div 100);
write (res);
end;
if (n>=1099) and (n<=1996) then //¢
begin
n:=n-9%5%;
a:=N mod 100;
a:=a div 10;
res:=n*1000+(n mod 10)*100+a*10+(n div 100);
write (res);
end;
if (n>=155%) and (n<=10%%8) then //7
begin
n:=n-999;
:=n med 100;
r=a div 10;
:=n med 1000;
:=b div 100;
res:=n*1000+a*100+b*10+(n div 1000);
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end;
if (n»>=1059%%) and (n<=1%%%8) then //B8
begin
n:=n-99%95;
:=n mod 100;
:=a div 10;
:=n mod 1000;
:=b div 100;
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write(res);
end;
if (n>=199%%) and (n<=109958) then //%
begin
n:=n-9999;
a:=n mod 100;
:=a div 10;
:=n mod 1000;
div 100;

:=n mod 10000;

:=c div 1000;
res:=n*10000+a*1000+b*100+c*10+(n div 10000);
write(res);

end;
- end.
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res:=n*10000+(n mod 10)*1000+a*100+b*10+(n div 1000);



